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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.
1) unbearable 2) verbose 3) sturdy 4) lethargic
Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate
The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and
unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected
Immediately overcome by for the wrong he had done, I lowered him to the floor
and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

| the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks.

., 1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

Scuba divingis a form of underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving. (11) rely either on breath-hold or on air pumped from
the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit, in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) to allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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Directions: Read the following three passages and choose the answer choice (1), (2), (3),

or (4) that best answers each question. Then mark your answer on your answer sheet.

Passage 1

Although most cells of the body have a resting membrane potential, nerve and muscle cells are
unique in that their membrane potential can be altered by a synaptic signal from an adjacent
cell. Even though there are billions of synapses in the nervous system, there are basically only
two ways that a presynaptic signal can alter the postsynaptic electrical potential: decreasing or
increasing its magnitude. Whether a synapse results in a decreased or an increased postsynaptic
potential depends on the nature of the chemical transmitter in the presynaptic vesicle and on
the nature of the receptor on the postsynaptic membrane.

16- According to the passage, nerve and muscle cells are
1) . like any other cells in the body, resistant to alteration of their resting membrane
potential
2) among other numerous cell types whose resting membrane potential is altered
3) the only cells whose resting membrane potential may be altered by a signal
4) . like most cells, marked with some variable resting membrane potential
17- The word “adjacent” in line 2 is closest in meaning to
1) identical 2) nearby 3) vulnerable 4) unstable
18- Actually the number of ways through which a presynaptic signal can alter the post
synaptic potential is
1) limited 2) infinite 3) indeterminable 4) basically a billion
19- Which of the following statements is TRUE, according to the passage?
1) Presynaptic vesicles on the receptor deterniine the postsynaptic potential.
2) The magnitude of the postsynaptic potential depends on the postsynaptic cell.
3) The postsynaptic membrane depends on the nature of the chemical transmitter.
4) The nature of the chemical transmitter and that of the receptor together determine the
change in the postsynaptic potential.

20- The word “depends” in line 6 is closest in meaning to A
1) concentrate 2) vary 3) rely 4) impose
Passage 2

Volatile fatty acids (VFAs) are bacterial waste products and. if allowed to accumulate, will
suppress fermentation. Furthermore, the VFAs are tremendously important energy substrates
for the host. supplying 60% to 80% of the dietary energy to ruminants with most types of
diets. Therefore, it is important, from the standpoint of both digestion and host metabolism,
that an efficient and high-capacity mechanism for VFA absorption be present. The
forestomach epithelium supplies such a system, absorbing nearly all the VFAs, with only
small amounts escaping to the lower digestive tract.
21- Which of the following statements is TRUE , according to the passage?

1) Volatile fatty acids allow fermentation to accur.

2) Volatile fatty acids are produced and wasted by bacteria.

3) Fermentation is enhanced due to the accumulation of volatile fatty acids.

4) Volatile fatty acids produced by bacteria and their accumulation may reduce

fermentation.

22- The word “suppress” in line 2 could best be replaced by

1) prevent 2) facilitate 3) culminate in 3) usher in
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23- The presence of an efficient mechanism for volatile fatty acid absorption is important

1) from both a digestion and a host metabolism standpoint

2) because it is a high-capacity mechanism for the host

3) exclusively from the host metabolism standpoint

4) exclusively from a digestion standpoint
24- The forestomach epithelium absorbs volatile fatty acids

1) optionally 2) haphazardly 3) almost completely 4) ineffectively
25- Which of the following statements is TRUE, according to the passage?

1) Most of the dietary supplements of ruminants have 60% to 80% volatile fatty acids.

2) Ruminants gain about 60% to 80% of their dietary energy from volatile fatty acids.

3) Dietary energy of ruminants is produced by most types of diets.

4) Volatile fatty acids are 60% to 80% important as a diet.

Passage 3

The kidneys are ultimately responsible for balancing hydrogen-ion gains and losses so as to
maintain a relatively constant plasma hydrogen-ion concentration. Thus. the kidneys normally
excrete the excess hydrogen ions from nonvolatile acids generated in the body from
metabolism, that is, all acids other than carbonic acid. Moreover. if there is an additional net
gain of hydrogen ions due to abnormally increased production of these nonvolatile acids, or to
hypoventilation or respiratory malfunction, or to loss of alkaline gastrointestinal secretions,
the kidneys increase their elimination of hydrogen ions from the body so as to restore balance.
Alternatively, if there is a net loss of hydrogen ions from the body due to increased metabolic
utilization of hydrogen ions (as in a vegetarian diet), hyperventilation, or vomiting, the
kidneys replenish these hydrogen ions. Although the kidneys are the ultimate hydrogen ion
balancers, the respiratory system also plays a very important homeostatic role. We have
pointed out that hypoventilation, respiratory maifunction, and hyperventilation can cause a
hydrogen-ion imbalance; now we emphasize that when a hydrogen-ion imbalance is due to a
nonrespiratory cause, then ventilation is reflexly altered so as to help compensate for the
imbalance.

26- According to the passage, which of the following conditions can lead to an increase in
the elimination of hydrogen ions?

1) Vomiting 2) Constipation 3) Hypoventilation  4) Nausea
27- The kidneys respond to the presence of an acidosis condition in the body by
1) restoring the nonvolatile acids 2) eliminating hydrogen ions

3) increasing the net gain of hydrogen ions 4) enhancing the hydrogen ions utilization
28- The word “replenish” in line 10 is closest in meaning to

1) augment 2) lead to 3) affect 4) restock

29- Which of the following conditions can help the kidneys make up for the hydrogen-ion
imbalance?
1) Reflexly altered ventilation 2) Consumption of a vegetarian diet
3) Respiratory malfunction 4) Carbonic acid metabolism

30- Which of the following organs are responsible for the acid-base balance in the body?
1) Kidneys — intestine 2) Lungs — kidneys

3) Lungs — stomach 4) Kidneys — liver
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